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_ Electronics and Communic_étion Engineering
EC 2020/2C 708 — DIGITAL IMAGE PROCESSING
| (Reguiation 2008) _ _ ‘
“Time : Three hours - S ' Maximum : 100 mar¥:

Answar ALL questions. .

PART A — (10 x 2 = 20 marks)

Mention the difference batween a monochrome-and a grayscale image.
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" State two importsat properties of unitery transforms. .

What is 2 bit plane?

State how contrast adiustment can be done in an image:
. ' o X

List any two properties of a median filter.

Mention the drawbacks of inverse filrering..

Mention two zipplication_s of image segmentation techniques.

Write the importance of Ec’zge-détecti::ﬁ.

Distinguish bétef;eén scalar and vector quantization. i

Mentiqa the Lmitations of Huffman coding.

PART B — (5 » 16 = 8¢ marks)
{a) State a?zd préve eonvoludion A;arojperty'of 9D-FFT. o : . (16}
o ' f,;ir : o |

(b) I}etermiﬁ"ie the DET mai;.ri:'e, frN=4 : R (16)‘
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12. (a) Hlustrate the steps in histogram equalization of'the'ima:gg. - -(16)
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Or
“.(b)- With the help of a blcck diagram, dmcuss the prmmple of homomorphlc :
ﬁltermg , : (1'3)
13.  (a) Illustrate the d1fferent causes of image. degradatmn Co
i - . Or‘ : 5 Lo o _
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® A blur .filter h{m,n) . iz given by’ 0

0 ©05-005 O©
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+.~ Find the debiuf filter uging inverse ﬁltenng

T

ié.. (2) . Discuss the principls of image’ segmentatmn by watershed

transformation and explain its drawbacks. . -~ . . (18)
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) (bj Dlscuss unage segmentat:on based on'varicus threshoidmg techx_uctues .

(16)
15. -“(&) For the image shown below compute the comp ression ratio that can be
acmeved using Huﬂ’xnan codmg Py - C o N ¢ L)
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. or

() A source emits-th;;ee- symbois ABC with a pl;obabi_lity' {0.5,0'.25,0.25}
. . . respectively. Cpnstruct an arithmetic code to encode tl_xe word ‘CAB.-
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